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00 22(00000) 000000 ¢ = (i,5,k) 00000 3000000000
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y=R(z) =(a -x)a+cost{x — (a-x)a} +sinf(a x ) (5.11)
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6 0000000 (Multibody Kinematics)
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A 0O0O0O0OO0OO

Code 1: “kine-af.sce” (Scilab)

1{c1ear; clf(); //00000; ODODOOAO,;

21///// O OOOOO /////

3 function x = affine_trans(x0, r,
4| R = [ cos(angle), —51n(ang1e)
5] sin(angle), cos(angle)
6] x1 = Rxx0; //0 0O

7| x =x1 +r; //0000

8| endfunction

o1///// OO0 00O p oa //7/7/7/

10 function points trans_object (r,
11| /// 0 00O0O0O0OOoOOCooao)
12| points=[ 2,-4, 2; ...

13| 2,-1,-1 1;

14| n=size(points,’c’);

15] /// 0000 ///

16| for i=1:n

17| oldp = points(:,i);

18] newp = affine_trans(oldp,
19| points(:,i) = newp;

20| end

21| endfunction
221 ///// 0D OO0OOO0O0OO /////
23| function draw_object (points)

angle)
1;//0000

angle)
/17
//x00
//y0 0
//0 00

r, angle); //0 00000

24| drawlater; clf(); //0000; ODOD0OO0Oa0O0,;
25| points=[points, points(:,1)]; //0000000000D0
26| plot (points(1,:), points(2 DL,"r=-"); //0000000
27| g=gca(); g. 1sov1ew="on //000000; O0001;
28 g.data_bounds=[-10,-10; 10,101; //0000 0O
29| p=gce (); p.children.thickness=3;//D Oooooo
30| xlabel ("x"); ylabel("y"); //0 000
31| xgrid (2); drawnow; //0 00 Oon; O0O0OO,;
32| endfunction
s31///// 0 OO OQ ////7/
34/ rr=[0;0]; theta=0; //0 0
35| points= trans object(rr theta*%p1/180)
36| draw_object (points);
s7pwhile (1) //0 00 O 0oooo
38| disp([rr’,thetal); disp(points); /00000000000
39| txt = [’rx’,’ry’,’theta (deg)’];
40| sig0 = string([rr;thetal)’;
41| sig = x_mdialog("Position and Angle", txt, sig0O);
42| if ( size(sig) == 0 ) /000000000
43| break; //whileO O
44| end
45| rr(1) = evstr(sig(1l)); //x0000
46| rr(2) = evstr(sig(2)); //y0O 000
47] theta = evstr(sig(3)); //000
48| points=trans_object (rr, thetax*)pi/180);
49| draw_object (points); //0000000R0
50‘end
Code 2: “kine-H.sce” (Scilab)

T 1
1jclear; clf(); //00000; OO0ODOO;

21///// 0O 0O4Q ////77

3| function x = H(x0, r, angle)

4 A =T cos(angle) -sin(angle), r(1);

5] sin(angle), cos(angle) r(2); ..

6] 0, 115 //D ooooao |
7| x1 = A*[xo;l]; //0 0 D 00100000000 |
8| x = x1(1:2); //00000000 |
9] endfunction \
wy///// 0ooooooao ///7//
11| function points = trans_object(r, angle) \
12] /// 00 O0ooooogcooog)y ///
13| points=[ 2,-4, 2; ... //x00
14| 2,-1,-1 1; //y0O0O
15] n=size (points,’c’); //0 00
16] /// 00 D a ///
17| for i=1: \
18] oldp = points(:,1);
19| newp = H(oldp, r, angle); //0 0 OO
20| points(:,i) = newp;
21| end \
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22| endfunction
231///// 0D ODOO0OODOOOO ////7/

24| function draw_object (points)

25| drawlater; clf (); //0 0
26| points=[points, points(:,l)]; //0 0
27| plot (points(l,:), points(2 DL,"r=-"); //
28] g=gca(; g. isoview="on" //0 0
29 g.data_bounds=[-10,-10; 10,101; //0 0
30] p=gce (); p.children.thickness=3;//D O
31| xlabel ("x" ylabel ("y"); //0 0
32| xgrid (2); drawnow; //0 0

33| endfunction
a1 ///// DO OO0 ///1/
35)rr=[0;0]; theta=0; //0 0

36| points=trans_object (rr, theta*%p1/180)

37| draw_object (points);
s8lwhile(1) //00 0000000

OoOod

Oooooooodg
Ooooooood
g oooooT
- oooogoo
| R i

O 0O ogood
O 0o o Ood

39| disp([rr’,theta]); disp(points); //0000000
40| txt = [’rx’,’ry’,’theta (deg)’

41| sig0 = strlng([rr thetal) ’;

42| sig = x mdlalog("Pos1t10n and Angl ", txt, sig0);
43| if ( size(sig) == 0 ) //0 0 ooooao

44| break; //whileO O

45| end

46| rr(1) = evstr(sig(1l)); //x0000

47| rr(2) = evstr(sig(2)); //y0O 000

48| theta = evstr(sig(3)); //0 00

49| points=trans_object (rr, thetax*)pi/180);

50| draw_object (points); //000000000

m‘end

O

oooao

Code 3: “kine-robo.sce”

(Scilab)

I|clear; clf(); //00000; O0DOOO DO ;

20 ////7 0000 BOOY ////)

3| function A = Rotz(q)

4 A = [cos(q), -sin(q), O, 0; .
5 sin(q), cos(q), 0, O;
6| 0, 0, 1, 0;
7l 0, 0, 0, 11;
8| endfunction

9| function A = Rotx(q)

10| A = [1, 0, , 0;

11 0, cos(q), -sin(q), O;

12| 0, sin(q), «cos(q), O;
13| 0, 0, 0, 11;

M\endfunctlon

15| function A = Trans(rl,r2,r3)

16| A= T[1, 0, 0, r1l;

17| 0, 1, 0, r2;

18| 0, 0, 1, r3;

19| o, 0, 0, 11;

m\endfunctlon

211 ///// 0 0O OO0 ////7/
22| global HandData;

23)///// 0000000000 O0O0OO0OO0 ///7//
24| function points = trans_object( th ) // th=[thl,th2,th3,th4]

ogoo1

//00000¢0)

25| /// oood D ooooooocaao) /77
26| = 0.8; 12 0.8; 13 = 0.8;

27| hand = [ o0, 0, 0, 0; //x00
28| 0, -0.2, 0.2, 0; //y0 0O
20 0, 0.2, 0.2, 0; . //z0 0
30| 1, 1, 1, 1 1; //0 0
31| /// O0o0oooa ///

32| R2 = Rotz( th(4) );

33| T3 = Trans(0,0,13);

34] R4 = Rotx( -th(3) );

35| T5 = Trans(0,0,12);

36 R6 = Rotx( -th(2) );

37| T7 = Trans(0,0,11);

38| R8 = Rotz( th(i) );

39| /// 0 O0OOooOoooog ///

40| for i=1:4

41| oldp = hand(:,i);

42| newp = R8x*TT7x* R6*T5*R4*T3*R2*oldp,
43| xils(:,1) = newp;

44| end

45| xi4 = R8*T7*R6*T5%[0;0;0;1]; //0

46| xi5 = R8x*T7*[0;0;0;1]1; //0

47| xi6 = [0;0;0;1]; //0 0
48| xx = [ xils, xi4, xib5, xi6 ]; //0 0
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49| points = xx(1:3,:); //00000¢GO00O)0a0
50| endfunction

s11///// 0D O0DOO0OODOOOOQ /////

52| function draw_object (pts)

53| drawlater; clf(); //0000; O00000,;
54| param3d(pts(1,:),pts(2,:),pts(3,:)); //30 0000000
55| g=gca(); g.isoview="on"; //000000; ODOO0O1;
56 | g.data_bounds=[-0.5,-0.5,0;2,2,2.5]; //0 00000

57] g.rotation_angles=[75,30]; //30 00000

58| p=gce(); p.thickness=3; //000000

59| p-foreground=5; //0000000

60| xlabel ("X"); ylabel("Y"); zlabel("zZ"); //00 00O

61| xgrid (2); drawnow; //0 00 O0on; O00O0OO,;

62| endfunction

631 ///// O OOO0O /////

64| thdeg = [-40, 60, 30, 90]; //0 00 0O deg
65| points=trans_object ( thdegx*pi/180 );

66| draw_object (points) ;

e7|while (1) //00 0000000

68| disp(thdeg); disp(points); //0 0000000000

69 txt = [’thi (degg’,’thQ (deg)’,’th3 (deg)’,’thd4 (deg)’];
70| sig0 = string(thdeg);

71| sig = x_mdialog("Angles", txt, sig0);

72| if ( size(sig) == 0 ) //00000000

73| break; //whileO O

74| end

75] thdeg = evstr(sig)’; //0 0 0 deg

76| points=trans_object ( thdeg*%pi/180 );

77| draw_object (points); //000000000

78‘end
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